FTEE AN R 0285 25081 20221230 HERNE LS

GESE R oF S FAE T

£ e =R S B 7 5 i FE R P
100 = 70 ~ 100 = 20 ~ 20 ~
> |- ap TS R TS A 1. - gt 1. - dpp
£ (6fkrt) (6 frs ) 2012+ &84 |2 12k 54
(&%) (&)
70 ~ 50 ~ 70 ~ 10 = 10 =
1.#FR+ l.#ER+ 1.20 A 2 b — 4 | 1,20 A 2+ B4 | 1,60 k2t gz
2.20 A2k - i (2,20 4 - 48 g (Bp)
B B4 2,12k 84 | 2. 65 kg 2.6 era F Rk 12
(&%) #w(BP) P2 E
50 ~ 30 ~ 50 ~ 3.6 frr 1 Kk
i .23 (2% 6 .23 (X% 6 1.20 x 0 F 54 12 e vas
& # ) ki
Z 2204 r g4 12204 HEA 1265k EE
ik i} LI (Bp)
3.6 ki b igE 3.6 ki A%
(Bp) 35 = 12 fsai
65 f b i E
(Bp)
TG E 2 B S T RGP E 2 B S
1. 65 &2 (L p) 1. 65 /& (L p)
. 2487 P REER 2 W & 2 2. 2E(Rm 6 &)
g | FORL e
A A7 P mEp 2 AR 2 g4
b #AREAEEE 2 A1
Bl Bmde 52 6RF R A2 LA HHBRE R -
FL2  HEFREZ  F 52 RNT LY SREF PSRBT #RS ) -




TEBT AR 0285 25081 20221230 HERNE LS

B LA Iy B¥ o6 Fi e Ay s
-~ B 41‘1\7;,]\5;‘}
o s PE T oAac L p 26,000 ~ o HEAo R
5 - iR pey | 126002 94 Br ¢ 6000 ~ B g
—ﬁ;bgi-%{v o
12 -¥REK
, = A . 2 p 16,000 = T EE
sl = (- B A — Y -
#ExRE (Z) wor oy 178 40 B : 6000 & - ]El?‘:.,q b}
my%;%—— ;J~
EFivri- H =
1} P PR oA
N AE L . - )’ A
;E/ﬁ;ﬁl—(f>ﬁ —;j?:rbi‘%‘ 223 L 3 o~ 166 TF’E 8’888’1 b Bl I%“%i‘
* s i 5 AR
Bt s Jp -
= HFrE B
o en = PN Tp 16,000 ~ ®
rriwdE (2) Rk [ 223 2 206 BPO.000% |- ke s
9:00~17:
00> 17:00
4o - HREKT FiEgn 170,94 T 2 120 Tp 11,500 ~ RN
Bl % i # B ER R 4 2 Bp 11,500 ~ e BT e
SRR AN i -
HAprpEs
_ L m oy = 1 . _ E R V=T
4o - RKT \ o 2 Tp 11,000 T
R Rl o Bp L0005 | RERTCR
A 50%
VAR e
oo T 15000 A o~ FEEHE
14 FALEC S 3 * :-ff“ 5] L o e 36 ,:E :6’500: @ 2 pF
= Ll B A
e g e
I R E
Y L FIRY . T p 4,500 ~ w24 Hin
7 7T 33 = B AN 7 i
ErFEY KE Jo 55 40 Bp 6,000 ~ *\fﬁﬁl—"—fﬂ.‘}"
# i -
ABEBTEFS - AP ERRS
pRrpED 2§ Eplygas
o 1L B R - Ao EMTEEY| PLERELA
A Kp 2 L Baan H I A — ]
LY I e 1, 790 K aEp g p B2 A o
I 1TE4E~ 1T 2ok B R
P 2228~ o £ 5 BRIt




TEBT AR 0285 25081 20221230 HERNE LS

A EPRFEe R o
pRTFED 2 F|D - HFEEEL
. o b S ) Ao T M L f ) e PERY
4 HPERT RS %,%i;i 1,455+ = = ¢ B ;;;fwﬂ;iirgfi i%f.';f;;
I 1TE4F AT 1g~-
PEE 2R 2F R = HE gt
EHERT LA S BN DS
BT pEp 2| #TRTE
) R T s AR B ES S HR R A
IR A S m?ﬂ@%»L%7i‘%‘ - a@i%ﬁi 9 p* Iﬁﬁﬁ’;m
IITEAEA 1T AR ERE
I 2mF2F R - TSR
A ERF e
%xé*%‘fiﬂ 4 5
| REE N e
*EF ¥,ﬁ|,/l :‘;‘_ﬂ?‘: 3,000'1 o R Efﬁq’%"ii 0 P
21TE8F ~ 1T
L 224~ o
AT AP T EE S
91?’”%{"3‘5 2 7
Lo BRET |, B . DA Kkl
BT = ¢h *haES 16,300 % % = < Exf‘*%‘jjﬁ; 9 pF
I 1TE4F AT
PFE 2228~ o
FEE FEIACEPATLE DD~




ITBR AR F028%: 25088 20221230 EHERCSUEE
R ) PREKRTHEEY L
B ard /A
£w £ S
>z 50 ~ — LR
30 % 1.20 vz @Y
.12kt 84 (BF)
BEEL
1.65 s v gz (p )
25 =
2.6 F& M FAE124&2E
TR FRE
1923 (R&64&)
i ~ 243 Lo lhEGEr 2 AR LB
‘ SEARIFEES 2 2
465kt (T p)
5. 3R+




0285 25081 20221230 HERNE LS

i BB SEFAAFREY A

B g /A

£ 5 £ ar
ES 50 %+ |-
1.20 * 2 F B4R
30 =~ 212+ 84 (g#)
BEE
1.65 gz v iga (Bp)
25 =
2.6 /i A% 12 A2
T RGEE N S
123 (X% 6 4&)
2.4 o hmEr 2 ek 2 iy ]
A
é’u% - PR
3 AR R 2 21
4.65 g1t (T p)
b. #F AT+
40 ~ R
BdFRaEy 20 ~ AT e
10 ~ L
-t (6t ) F st
ﬂl o
R R g MR BELR et e
SRS RN
ThRI D Bie 15 1.65 &2 v i3 (P )
247 P REEN 2 ARl B ]
. 1528 (2% 6 &)
*F 2.65 kg (L)




028% F250HF 20221230

FEMECUER

MAT B BRI LA
H i ard R/~
£ £ AL o8]
> E 50 ~ - B
vl b 3]
20 = 1.20 4 vz 48
2,124k B4 (&%)
BEL
1.65 s v gz (g )
25 =
2.6 K& An 12 &2E
PR A=A BN
.23 (XE6 &)
2503 o lREEP 2 AR B ]
\i,%l‘f """ *
S HF AR E S 2 F
4,65 k2 (T p)
5. #FEAT




TTEGE A 5028% F250H 20221230  BERECULE
T AR (o 3 S
Eff_i}%‘rifv‘;"i/;b

H/Fr

it 9

BLE

1 &8/ % 300 ~

FHE 2 R/ LA
g

1&p/&% 270 ~

BHEE 2 20 A0 BEE
VAL B W W

T #E - * 2RIH2 2
"?Q}}IJ%%—% RIS TESR
UK BA B AR A AR
B S FIEE A
Bdowsg o - B ERT
RSN RN IIER 1)
R R R
% o




